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<>=@?BA :�CEDF3HGI79CJGK:MLKNO36NOPQPSR�P AUT 36NOVWVW2 ABCD X 2Y582�:�DH3F2 I
DH2�P�Z�GI2

AB = 5 cm [ BC = 3 cm
24D

ÂBC = 65◦ =\ =@? NOP958GKPS2]C A :^L�R�3H7QVW_8DH3F2 =
` =ba P9N>542]GI:�L A 7Q:�D M c Ped 240�DHR43F7Q24GI3 X GfLKN>3FN>PSPQR4P A>T 3FN>V!VW2 ABCD =
?BA :�CEDF3HGI79C
PS2bL A 7Q:UD N

DF24PIZ�GI2gPS2hZ�GKN X 3H7QP9NiDH_�3H2 MDNB
C A 7SDjGI:YL�NO36NOPQPSR�P AUT 36NOVWVW2 = /10�LIPQ79ZUGK2DFNW5 A :KCkDH3FGK5lDF7 A : =

m =on N�pMqrGI24P�2�CEDJPQ2;V!7QPQ7S2�G X GfCH2 T VW24:�D [MN ] s]t GKCEDF7vu�2]PQN!3FR4L A :KCH2 =
nxw pfy@R X GI79CEz{24:fZ�GI2]PS2]Z�GKN X 3H7QP9NiDH_�3H2 MANC

2�CkDhGI:fLKNO36NOPQPQR4P A>T 36NOVWVW2 =
/10�24365879582;:

◦
\ | A 7vD EFC

GI:�DH3F7QN>: T PQ2}DF24PjZUGK2 EF = 6 cm [ EC = 4 cm [ FC = 8 cm = y~NO:KCrPS2DH3F7QN>: T PQ2 EFC [ PQNW�KN>G�DH2�GI3@79CFCkGI2 X 2 E
5 A GIL�2}PQN X 3 A 7vDF2 (FC)

24:
E′

24D@PQN��KNOG�DF24GI3@7QCFCkGK2 X 2 F5 A GIL�2;P9N X 3 A 7SDH2 (EC)
2�:

F ′ =
<>= qrGI2�Ph2�CkDWPQ2�582�:�DH3F2 X G�54243658PQ2f547S365 A :KCF583F7vD�NOG�DH3F7QN>: T PQ2 EE′F s qrGI24Ph2�CED�PQ2M3FN�� A : X 2�582582�3F54PS2 s\ = qrGI2�Ph2�CkD�PS2M582�:�DH3F2 X G�54243658PQ2^547S365 A :KCF583F7vD�NOG�DH3F7QN>: T PQ2 FF ′E s qrGI24Ph2�CED�PQ2M3FN�� A : X 2�582582�3F54PS2 s` = /10�LIPQ7QZ�GI2}N>P A 3FCgL A GI36Z�G A 7�PQ2�CbL A 7Q:�DFC E [ F [ E′ [ F ′

C A :�DJCkGI3hGK:^VW��V!2}54243658PQ2 =
/10�24365879582;:

◦
` | A 7SD�GI:�582�3F54PS2 (C) X 2J5424:�DH3F2 O [>X 2h36N�� A : 3 cm

24D
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GI: X 7QN>VW_8DH3F2 X 2J542b54243658PQ2 =| GI3hPQ2}582�3F54PS2
(C) [ A :^LIPQNU582;GI:fL A 7Q:UD I

DF24P$Z�GI2
B̂CI = 30◦ =

<>=h� N>7QCbGK:I2;u T GK3H2 =
\ = qrGI2�PSPQ2;2�CkDJPQN!:KNODHGI3F2 X G^DH3F7QN>: T PQ2 BIC s�t GKCkDH7SuK2;P9NY3FR4L A :�Ck2 =` =@? NOP958GKPS2;P9NYVW2�CkGI3F2 X 2�C@NO: T PS2�C ÎBO

28D
ÎOC =/10�24365879582;:

◦
m y@R4DH2�3HVW7Q:I2WPQNf�iNOPQ24GK3 X 2�C]240�LK3H2�CHCH7 A :KC;CkGK7S�iNO:�DF2�C;L A GI3 x = 2 [ y = −3 [ z = −5LIGI79ChL A GI3 x = −4 [ y = −1 [ z = −2 =

A = 4 × x − 2× y + 3 × z B = xy + yz + zx

/10�24365879582;:
◦ � ? NOP958GIPQ2;PQN!�iNOPQ24GK3 X 2]56�KN>54GI:I2 X 2�CJ280�LI3F2�CFCk7 A :KCgCHGI7S�iN>:UDF2�C;�

D = [−9 − (−3)] × [16 ÷ (−4)] E = (8 × [−1− (−2)]) ÷ (−4)

F =
8 − (−1) × 4

−5 + 2


